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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxx=~=2sHl 559,200,000 569,200
301 EtE N = 1,000 2,000 21,000
11 #AIAMHIXIE S 1,000 2,000 1,000
oA=& ?I33 X3dl s 1,000,000& 1,000
227 Y S4 FAZR(HANS) 462,390 421,747 40,643
201 fer=3| 458,390 417,247 41,143
01 At 22|l 8,390 12,747 4,357
Oxgxted LB S 8,390,000& 8,390
2 S5=24g4l 450,000 404,500 45,500
OXxtg =Al2eltl 340,000,000 340,000
O&EESAl| 110,000,000& 110,000
206 M=l 4,000 4,500 A500
01 M=4l 4,000 4,500 A500
Oxgxted HIbIS S 4,000,000 4,000
A BZHE Y IISEL(HAMS 765,030 245,426 519,604
201 2= 127,79 127,656 139
01 At22t2l] 39,955 39,816 139
OFAL dit=ZH| S 27,650,000 27,650
OFAL 22X ZHHI 12,305,000 12,305
2 35234l 87,840 87,840 0
OFA HEHl S 87,840,000& 87,840
401 Al HIZ S OHbI 68,365 91,280 N22,915
01 AlZ2H| 68,365 91,280 N22,915
O2YHAL SZHE SAH
68,365,000 68,365
405 AHAHE S 8.870 26,490 A17,620
01 TR =S F=H 8,870 26,490 A17,620
OFAL #8ld 238 72 S
8,870,000& 8,870
406 JIEFHAHZ0l1 A 560,000 560,000
01 JIetAt=01d 560,000 560,000
OZA SRtz 320,000,000 320,000
OHIYHII=A SX= 240,000,000 240,000
SRS 2SXd 2 S LsHAEANS) 105,609 109,315 A3,706
201 Ler23 | 58,964 48,855 10,109
01 AtR2t2ltl 41,216 35,355 5,861
O3JIe8J188)| SIIE23At
12,816,000 12,816
O3JI28J] SJIEA S
4,000,000 4,000
Ot Y SEH X2 S
11,440,000 11,440
Ot e S =¢t| 12,960,000 12,960
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R
AN 2Y

D MOMSAYUAN 2SS (AYUSESIH) (SH &)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
02 2224l 17,748 13,500 4,248
OZJ1e&8JI18H8I| 22F WA
17,748,000 17,748
206 =4l 39,520 41,610 A2,090
01 =l 39,520 41,610 A2,090
Ot E A3
39,520,000 39,520
405 RHaHE=H| 7,125 18,850 A11,725
01 AL SEFHSHI 7,125 18,850 A11,725
OStH& HHI2 7,125,000& 7,125
L2HAIE Jls 2SHACHA 36,197 35,784 413
201 B2 AY| 4,420 5,082 662
02 3324l 4,420 5,082 662
OHIMASER |
4,420,000 4,420
206 =4l 7,390 7,140 250
01 =l 7,390 7,140 250
OagEAL 2l ABF
7,390,000& 7,390
401 A& BIZ20HbI 24,387 23,562 825
01 Al&HI 24,387 23,562 825
OLEEBAE RRES S
24,387,000 24,387
x7g s & f 124,362 114,909 9,453
201 B2 AY| 25,844 26,378 AB34
01 A=R2teld| 25,844 18,790 7,054
O7=l &2gae
13,900,000& 13,900
(OFI=EnEN =y (-
3,500,000& 3,500
Ooozs sagd
8,444,000& 8,444
206 =4l 98,518 83,531 9,987
01 =l 98,518 838,531 9,987
O7x+g 29=3 98,518,000& 98,518
Mo e ¥ =24 13,000 14,000 21,000
201 B2 AL| 8,000 8,000 0
01 AtR22eltl 8,000 8,000 0
Oagotdn=E A
8,000,000& 8,000
206 =4l 5,000 6,000 A1,000
01 =l 5,000 6,000 A1,000
OagotdNs A2
5,000,000& 5,000
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SA SIAEHI
BH: AN 29
Cel: SFAUN 2 (AUSEIH) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,000 2,000 21,000
11 dALEEIXIZE S 1,000 2,000 21,000
o2& ?I3a XN&bl s 1,000,000& 1,000
Aty & sS4 KRA2A(SF) 448,753 448,704 49
201 er2 3| 444,453 444,104 349
01 AtR2te|HI 5,253 13,504 8,251
OASXy JLAAMN S 5,253,000& 5,253
02 s3=gHl 439,200 430,600 8,600
OXg =Xl2cltl 340,200,000 340,200
O&EE S| 99,000,000 99,000
206 MH=H| 4,300 4,600 A300
01 MZH| 4,300 4,600 A300
OASxg HIEIS S 4,300,000& 4,300
AEEA L & JISEL(SF) 491,69 182,997 308,698
201 fer= 3| 110,356 112,740 N2,384
01 AtR2tc|HI 37,636 40,020 A2,384
OFAF Let=2H| S 24,050,000& 24,050
OFA 22X HH| 13,586,000& 13,586
2 352484l 72,720 72,720 0
O&A Hg8Hl S 72,720,000 72,720
401 AIEHIX SO 373,135 59,478 313,657
01 AlZH| 364,000 59,478 304,522
OASFHA BEHE SAH
14,000,000 14,000
OSF2EAM 25 SFSA
350,000,000 350,000
02 Zeltl 6,615 0 6,615
OSFA LA 25 SESA
6.,615,000& 6,615
03 AIZ S THYI 2,520 0 2,520
OSFALA 25 SESA
2,520,000& 2,520
405 KHaHE SH 8,204 10,779 A2,575
01 AL =S F=HI 8,204 10,779 AN2,575
OFAL 28ild =238 72 S
8,204,000 8,204
S BSKY 2 8" YsH(BF) 78,022 66,427 11,59
201 er2 3| 42,712 36,994 6,718
01 AtR2telHl 30,880 26,994 3,886
OsJIz8)Is8d)| S8 A
8,544,000 8,544
O3J1e87 8JIEM &
4,120,000 4,120
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SA SIAEHI
BH: AN 29
OR: BFELAYUN S (AUSLESIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OM-ES 3| UXE S
7,920,000& 7,920
Ostiisid S SEH| 10,296,000 10,296
02 S3=gHl 11,832 9,000 2,832
OBJISEIsEI 228 wHl S
11,832,000& 11,832
206 M=l 27,360 29,133 A1,773
01 MHZH| 27,360 29,133 A1,773
OSIYALE AsfoH =
27,360,000& 27,360
405 KHoHF S| 7,950 1,300 6,650
01 ML ESFSHI 7,950 1,300 6,650
Ostide HHI2H S 7,950,000 7,950
2AE Jls 23HSF) 25,262 21,744 3,518
201 =3 8,320 6,006 2,314
02 35244l 8,320 6.006 2,314
Obl&ASHE X KAzt
8,320,000 8,320
206 M=l 3,940 3,660 280
01 MZH| 3,940 3,660 280
OALEFAIE 22| 423
3,940,000& 3,940
401 AlZHIZ SO 13,002 12,078 924
01 AlZ8| 13,002 12,078 924
OxgsrAlE RAES S
13,002,000 13,002
IETS S2SAY X IISLHSF) 69,195 68,910 285
201 er23| 20,209 22,747 A2,538
01 At2teltl 20,209 22,747 N2,538
O+sl z28acldd 28 S
12,510,000& 12,510
OAzg MA8)| 58 8
4,199,000 4,19
OS2 TUSHE Bl S
3,500,000& 3,500
206 M=l 48,986 46,163 2,823
01 MZH| 48,986 46,163 2,823
O7x+g 2Z=E3 48,986,000& 48,986
Moy ns 2 E28s 23H3F) 13,000 14,000 21,000
201 ZBt=Ehl 8,000 8,000 0
01 AtR2t2|HI 8,000 8,000 0
OIS HIRFA S
8,000,000 8,000
206 MH=H| 5,000 6,000 21,000
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S ST
Hu: AU 29

ciol: wEALA 2H(AnSHa) (19 9
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxx=~=2sHl 369,600,000 369,600
301 EtE N = 1,000 2,000 21,000
11 #AIAMHIXIE S 1,000 2,000 1,000
oA=& ?I33 X3dl s 1,000,000& 1,000
223 ¥ SH FX22(EE) 388,123 386,547 1,576
201 fer=3| 383,423 381,447 1,976
01 At 22|l 8,623 7,347 1,276
Oxgxted LB S 8,623,000 8,623
2 S5=24g4l 374,800 374,100 700
OXxtg =Al2eltl 294,800,000 294,800
O&EESAl| 80,000,000& 80,000
206 =4I 4,700 5,100 A400
01 M=4l 4,700 5,100 A400
Oxgxted HIbIS S 4,700,000 4,700
ALFA BZHE 2 IIsSEA(EY) 152,928 833,440 A680,512
201 2= 91,852 91,428 424
01 At22t2l] 32,812 32,388 424
OFAL dit=ZH| S 21,650,000 21,650
OFAL 22X ZHHI 11,162,000& 11,162
02 S3=gl 59,040 59,040 0
OFA HEHl S 59,040,000 59,040
401 Al HIZ S OHbI 39,006 447,105 A\408,099
01 AlZ2H| 39,006 441,597 A402,591
O2YHAL SZHE SAH
39,006,000& 39,006
405 AHAHE S 22,070 14,907 7,163
01 TR =S F=H 22,070 14,907 7,163
OFAL #8ld 238 72 S
22,070,000& 22,070
WAL SSAH & 2" LeHEH) 73,679 65,335 8,344
201 er2&y| 37,789 31,258 6,531
01 AtR2t2|HI 27,929 23,758 4,171
OBII=28J188I| SIIE=2SAM
7,120,000& 7,120
O3J1=287] II1BAM S
4,280,000 4,280
Ot d SEH 2Xe S
7,205,000& 7,205
Ostiigd s sl 9,324,000 9,324
02 s3=gbl 9,860 7,500 2,360
O2JI&E8JI188I| A2Z WA S
9,860,000 9,860
206 =4l 24,890 23,877 1,013
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SA SIAEHI
BH: AN 29
P HRAUA 22 (AYSHE|H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 24,890 23,877 1,013
O MILE 234HM S
24,890,000& 24,890
405 KHoHFSH| 11,000 10,200 800
01 ML ESFSHI 11,000 10,200 800
Ostide HHI2H S 11,000,000 11,000
2ZAE Jls 2EHEEH) 28,904 29,389 N485
201 2= 12,220 12,705 N485
02 35244l 12,220 12,705 A485
Ol &tAztd Xl FAl2el
12,220,000 12,220
206 MH=Hl 3,880 3,880
01 MZH| 3,880 3,880
OAEFAIE 22| 423
3,880,000& 3,880
401 Al HIZ R 0HbI 12,804 12,804
01 AlZ8| 12,804 12,804
OxgsrAlE RAES S
12,804,000 12,804
2E7E S & JIsLsHEE) 58,953 60,771 1,818
201 er23 | 16,445 19,149 A2,704
01 At2teltl 16,445 19,149 N2, 704
O+sl z28acldd 28 S
9,730,000& 9,730
OdSEUSHE Bl S
3,500,000 3,500
O2Azs tAZ8I| B8 S
3,215,000& 3,215
206 M=l 42,508 41,622 886
01 MZH| 42,508 41,622 886
O7x+g 2Z=E3 37,508,000& 37,508
ouzile 2828 7Y
5,000,000& 5,000
Mg ns & 2288 28 (EY) 13,000 14,000 A1,000
201 2= 8,000 8,000 0
01 At2t2lt] 8,000 8,000 0
OAgtdus AT S
8,000,000& 8,000
206 M=l 5,000 6,000 A1,000
01 MZH| 5,000 6,000 1,000
OAgotMIE ABE S
5,000,000 5,000
oAU XA (EH) 750,974 735,490 15,484
301 EtE NS 750,974 735,490 15,484
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SA SIAEHI
B AUA 29
CHol: OHIAZIN 2% (AUSHE) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SLF3H 1,154,520 946,920 207,600
OYs &=l 679,320,000 679,320
O7x~za2=l 475,200,000 475,200
301 EtE NS 1,000 2,000 21,000
11 #AIAHIXIE S 1,000 2,000 A1,000
Oo&E 7133 X2l S 1,000,000& 1,000
22T ¥ S4 RX2el(0H) 476,609 499,418 A22,809
201 2= 472,309 494,718 N22,409
01 At2t2ltl 1,109 8,018 26,909
OLRe LB S 1,109,000& 1,109
2 5234l 471,200 486,700 15,500
OXte =Al2clbl 372,200,000 372,200
OZESAHI 99,000,000 99,000
206 M=l 4,300 4,700 A400
01 MHZH| 4,300 4,700 A400
OAgxtgy HHIS S 4,300,000 4,300
YA BZHE K IISEZ(0H) 749,442 220,404 529,038
201 er2 3| 111,952 111,852 100
01 At2teltl 34,192 34,002 100
OFA LEt=2H| S 25,250,000 25,250
OFA 22X F| 8,942,000& 8,942
02 S3=gHl 77,760 77,760 0
OFA HEHl S 77,760,000 77,760
401 A2 HIZL R 0HHI 67,496 97,800 A30,304
01 Al&HI 67,4% 97,800 230,304
OLSEA 28 SAH
67,496,000 67.,49%
405 AHatE = 9,994 10,752 AT58
01 MMM ESFSHI 9,994 10,752 AT58
OFA #g8ld =258 72 S
9,994,000& 9,994
406 JIEFAZ01E 560,000 560,000
01 JIett=01d 560,000 560,000
OZAL SRtz 280,000,000 280,000
OHl&tl=a Xtz 280,000,000 280,000
A SSKE & S 23HO0) 100,783 107,198 26,415
201 Ler23| 49,784 44,431 5,353
01 At2teltl 35,980 33,931 2,049
O3JIs8JI188I| SIIE23At
9,968,000& 9,968
O3J1887] 8JIE8M &
1,320,000& 1,320




2A:

2/ HIEHI

B AUA 29
P OFAHAEIAl 22 (AYSH3IH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OM-ES 3| UXE S
12,668,000& 12,668
Ostiisid S SEH| 12,024,000 12,024
02 S3=gHl 13,804 10,500 3,304
OBJISEIsEI 228 wHl S
13,804,000 13,804
206 M=l 43,763 41,167 2,5%
01 MHZH| 43,763 41,167 2,5%
OSIYALE AsfoH =
43,763,000& 43,763
405 KHoHF S| 7,236 21,600 A14,364
01 ML ESFSHI 7,236 21,600 14,364
Ostide HHI2H S 7,236,000 7,236
AZAE Jls 23HO0H) 41,759 40,855 904
201 =3 6,370 7,315 A945
02 35244l 6.370 7,315 2945
Ol &tAztE Xl Sl
6.,370,000& 6,370
206 M=l 8,230 7,800 430
01 MZH| 8,230 7,800 430
O2YSHAIE B2l 425
8,230,000& 8,230
401 AlZHIZ SO 27,159 25,740 1,419
01 AlZ8| 27,159 25,740 1,419
OxgsrAlE RAES S
27,159,000 27,159
FETS S E IS0t 113,196 107,180 6.016
201 er23| 24,963 25,768 A805
01 At2teltl 24,963 25,768 2805
O+sl z28acldd 28 S
13,900,000& 13,900
OAzg MA8)| 58 8
7,563,000 7,563
OS2 TUSHE Bl S
3,500,000& 3,500
206 M=l 88,233 81,412 6.821
01 MZH| 88,233 81,412 6,821
O7x+g 2Z=E3 88,233,000& 88,233
Hetoly ns 2 E28s 23H0H) 13,000 14,000 21,000
201 ZBt=Ehl 8,000 8,000 0
01 AtR2t2|HI 8,000 8,000 0
OIS HIRFA S
8,000,000 8,000
206 MH=H| 5,000 6,000 A1,000
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2A:

2/ HIEHI

B AUA 29
SRl MAAEN 29(A2SEEN) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxx=~=2sHl 374,400,000 374,400
301 EtE N = 1,000 2,000 21,000
11 #AIAMHIXIE S 1,000 2,000 1,000
oA=& ?I33 X3dl s 1,000,000& 1,000
22X LS4 FXZE (AL 384,893 423,578 38,685
201 fer=3| 380,693 418,878 A\38,185
01 At 22|l 6,893 6.178 715
Oxgxted LB S 6,893,000 6,893
2 S5=24g4l 373,800 412,700 /38,900
OXxtg =Al2eltl 296,800,000 296,800
O&EESAl| 77,000,000& 77,000
206 M=l 4,200 4,700 A500
01 M=4l 4,200 4,700 A500
OASXEE HNHIS S
4,200,000 4,200
LA BZHE K IISEL(MA) 184,438 165,175 19,263
201 =3 98,668 103,488 A4,820
01 At2t2lt] 30,268 30,768 A500
OFAL dit=ZH| S 23,450,000 23,450
OFA 22X HHI 6.,818,000& 6,818
02 S3=gHl 68,400 72,720 A4,320
OFAL &8H| § 68,400,000 68,400
401 Al HIZ S 0HHI 73,400 53,649 19,751
01 AlZ8| 73,400 53,649 19,751
OALEHAL SFME SAt
73,400,000 73,400
405 AHaHE = 12,370 8,038 4,332
01 It =S F = 12,370 8,038 4,332
OBAMN & 23 78 S
12,370,000& 12,370
SN Y SSKY 2 S AaH(AL) 77,186 73,616 3,570
201 fet= 3| 41,066 36,419 4,647
01 AtR2tc|HI 29,234 27,419 1,815
OBII=2EJ18EI| SIIE=2SAM
8,544,000 8,544
O3JI1=287] II1BAM S
2,480,000 2,480
OMHEY S8l 8iig S
7,590,000& 7,590
Ostiigd s S8l 10,620,000& 10,620
2 S524g4l 11,832 9,000 2,832
OBJIe8JI188I| A2 wHM S
11,832,000& 11,832
206 MH=Hl 26,220 27,297 A1,077
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SA SIAEHI
B AUA 29
CH9l: AAASA 2 (AUSHEIH) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 26,220 21,297 1,077
O MILE 234HM S
26,220,000& 26,220
405 KHoHFSH| 9,900 9,900
01 ML ESFSHI 9,900 9,900
Ostide HHI2H S 9,900,000 9,900
AZAE Jls 23HAL) 25,733 23,072 2,661
201 2= 8,060 5,313 2,747
02 35244l 8,060 5,313 2,741
Ol &tAztd Xl FAl2el
8,060,000 8,060
206 MH=Hl 4,110 4,130 A0
01 MZH| 4,110 4,130 A0
OAEFAIE 22| 423
4,110,000 4,110
401 Al HIZ R 0HbI 13,563 13,629 VaNG'§
01 AlZ8| 13,563 13,629 YANG'§
OxgsrAlE RAES S
13,563,000 13,563
TETS SSAE L JISLSHAL) 75,095 73,597 1,498
201 er23 | 19,3% 21,837 A2,443
01 At2teltl 19,3% 21,837 N2,443
O2=8 a48J 88 S
4,774,000 4,774
o728l z82cld 28 S
11,120,000 11,120
OS2 TUSHE Bl S
3,500,000& 3,500
206 M=l 55,701 51,760 3,941
01 MZH| 55,701 51,760 3,941
O7x+g 2Z=E3 55,701,000& 55,701
Heog ns & 288 23 (M) 11,000 13,000 2,000
201 fet= 3| 8,000 8,000 0
01 AtR2te|H] 8,000 8,000 0
OIS HRFA S
8,000,000& 8,000
206 MH=H| 3,000 5,000 A2,000
01 MHZHI 3,000 5,000 /2,000
OagotdIE ABE S
3,000,000& 3,000
olgAL XI& (M) 498,095 487,825 10,270
301 LEetE N = 498,09 487,825 10,270
M Hstssstis 32,500 32,500 0
O &st=s 32,500,000& 32,500

_38_




od
i’
oF
uJ

P
g

n
[=3
TSI

S HE Y]
LOABEA

2A:
X XH
o
&

= il el < 5 BB|B e < 818 QRN 318 818
N AR RC Rt SIS =15 S |o SIS
i (@) [qN] o 1O [V NaN] — | —
- S18(2(° SIS a|<
E
B
& 8188 S N RN RN RN 318 S 818 218 mm 818
! SIS S IR AR BS 0 S|e S5 A5 S|S
[ao X el IR u ()) - | == Y] — | — ™| ™ [ap 1N Nep) [N NaN|
uar |2 e R &= 8| ol SIS
- (a\]
<
RIS
8B & 381818 8 8 m%mﬂﬂ = 8 S(8|18 8 S 88 8 2818 8188 38|18 8 8188 8
LS w|gIele & 5 Sfl¥I=|m - S gln|legs S © S .m B|9IS o|no X |SS © F|9|8 S
§geP|9)T 77 TIglgldly §8 gEEE © 279 GE@ eSS gl g g
ol N
<
S
W ol o o W o W W o W o o o W o o
S 38 8 8 S 8 8 S 8 S 8 8 8 S S 8 8
S 3 S S S S S S S g 9 S S S S S S
[Ye) ~—
| 28 g g =8 8 g § B8 8 g 8 g & g
<t ()] Te) © o — o (ap) (a\] —
S| §¢ §8 g | ¢ 3 g 5
ol
5 ulo
=3 ujo
F - _ <t _ 80
= 5 W i HI h Dowoy, X o
. D n =\ H A < — —
= |5 ~ B o@m |E|3 PR P w S E 2 |5 & 5
= |= e o = ol | oF) 2 M A RIOF = 3 N o e
o e = ~ |B|R o= 2 A au Pd Kl gp — "
U = o o ur | o I K oo W =5 W a1 KF Kz D m R
oF | o ol B U Kt |20 a1 K == ad F5F @ Ki o O zr|=|z _ W W
ol = RIMIR 5 0T 4] I WK |5 < W D R | |8 Z|f0|R D WK g
s E _mlz 5 0 2 [0 nw © < |g|g R 0 = 3 5 7| &) ®|0F W Mg |5 &
= |= mJ — = ok = s Ok
= |« F D= [H|w o+ |0 SE S S K || ® A oy <0 S XKk X [<F|an o TF Dm0
r = T A s - TR Y = 0 2 il R 5 = 3 3 2L
w0 |00 R MDHEI< S @ o (s R A /< fgyfok D0 OH0 RO KO = K | = D0 |ok (& 20 (o0- (R0 1O Kifmii< KO
K ol_ﬁ_u.wm___%1ﬂA zlslal|~ & W D |z 4 o Rr aC B0 N Sl dlan|= Alrrlur 20 +|{an|®z A
* 5OO._11O4O w.oH4IMO O O —|— O O O OSO 21@330%2@@11@
x |© =8| ~ dl=l2 QI|I° © Q|° K|° QI|° S|
I+ 5l JM
0 <
H

_39_



SA SIAEHI
B AUA 29
ol =AM 2 (AUSHEE) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AgRE %S4 FA2el(=4) 398,703 400,794 22,001
201 er23 | 394,703 396,194 21,491
01 At2teltl 12,703 10,594 2,109
OA Xty JLAAMN S 12,703,000& 12,703
02 S3=gl 382,000 385,600 A3,600
OXtegr FAl2eltl 296,000,000 296,000
OE=ZE S| 86,000,000 86,000
206 M=Hl 4,000 4,600 A600
01 MHZH| 4,000 4,600 2600
OAgxteg HHIS S 4,000,000 4,000
AEEA BZHE 2 IISE2(=4) 477,309 179,578 297,731
201 er2&| 99,752 97,330 2,422
01 At2teltl 36,392 33,970 2,422
OFAL &it=ZH| S 22,250,000& 22,250
OFEAL 22X BH| 14,142,000 14,142
02 s3=gHl 63,360 63,360 0
O&EA HB8Hl S 63,360,000 63,360
401 AlEHIZL SO 62,000 72,670 210,670
01 Al&H| 62,000 72,670 10,670
OALLFHA SFME SA
62,000,000& 62,000
405 AtatE = 15,557 9,578 5,979
01 ML ESFSHI 15,557 9,578 5,979
OBA & 23 78 S
15,557,000& 16,557
406 JIEFAIZ201E 300,000 300,000
01 JIEtAH=01H 300,000 300,000
OZAL & Xtz 300,000,000 300,000
WAL SSKE & S 2 =) 91,025 74,536 16,489
201 er23| 37,348 34,259 3,089
01 At2teltl 27,488 26,759 729
O3JIs8JI188I| SIIE23At
7,120,000& 7,120
Ostiigd s S8l 9,576,000& 9,576
O3J1=287] II1BAM S
1,680,000 1,680
OMHEY S3Hl Silg S
9,112,000& 9,112
02 S3=gHl 9,860 7,500 2,360
O3J1887I1880| AR WA S
9,860,000& 9,860
206 M=Hl 31,477 31,477
01 MHZH| 31,477 31,477




SA SIAEHI
B AUA 29
ol =AM 2 (AUSHEE) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSIWALE A5foH =
31,477,000& 31,477
405 KHoHFSHI 22,200 8,800 13,400
01 ML ESFSHI 22,200 8,800 13,400
Ostide HHI2H S 22,200,000 22,200
AAE Jls 2aH =) 27,570 27,076 494
201 2= 6,500 6,006 494
2 S22l 6,500 6.006 494
Ol &tAstE Xl FAl2el
6,500,000 6,500
206 M=l 4,900 4,900
01 MZH| 4,900 4,900
OASETAIE 22| A2
4,900,000 4,900
401 AlZHIZ SO 16,170 16,170
01 A28l 16,170 16,170
OxgsrAE RAES S
16,170,000& 16,170
IETS SN E IS (=4 63,99% 63,838 157
201 er23| 18,518 21,066 A2,548
01 At2tltl 18,518 21,066 A2,548
O+F2l z28acdd 28 S
11,120,000& 11,120
OASHEUSHE Bl S
3,500,000& 3,500
O2Azs tA8I| 88 S
3,898,000 3,898
206 M=l 45,477 42,772 2,705
01 MZH| 45,477 42,772 2,705
O7x+g 2Z=E3 45,477,000& 45,477
Heog ns & 288 2a(=4) 11,000 13,000 2,000
201 er=23y| 8,000 8,000 0
01 AtR2t2lHl 8,000 8,000 0
OIS HIRFA S
8,000,000& 8,000
206 M=Hl 3,000 5,000 A2,000
01 MHZH| 3,000 5,000 /2,000
Oagotds ABE S
3,000,000& 3,000
olgAL X (=) 582,388 570,380 12,008
301 LEtE N = 582,388 570,380 12,008
04 Fsisstis 38,000 38,000 0
(OINERSEIE=) 38,000,000& 38,000
05 oISAUHAIE ZH 544,388 532,380 12,008
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46,111,000
36,000,000&
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SA SIAEHI
BH: Ay 29
SRl HEAUN SH(AUSEIH) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 142,289 147,800 25,511
01 At2teltl 3,289 0 3,289
OA ity JLAAMN S 3,289,000& 3,289
02 S3=gl 139,000 147,800 /8,800
OXg =Al2clsl 100,000,000 100,000
OE=E S| 39,000,000& 39,000
206 M=H| 1,500 1,800 A300
01 MHZH| 1,500 1,800 A300
OAgxtg HHIS S 1,500,000 1,500
AEEA BZHE 2 IISEA(HE) 373,997 109,948 264,049
201 Ler23| 48,148 50,868 N2,720
01 At2teltl 25,828 28,548 N2,720
OBAL LEt=2H| S 15,050,000& 15,050
OFBA 22X Z| 10,778,000 10,778
02 s3=gHl 22,320 22,320 0
OFEAMN HE2Hl S 22,320,000 22,320
401 Al HIZL 201 46,239 46,330 291
01 Al&H| 46,239 46,330 A9
OASFHA FME SAt
46,239,000& 46,239
405 KHoHF S| 9,610 12,750 A3,140
01 ML ESFSHI 9,610 12,750 A3,140
OB &t 235 7Y
9,610,000& 9,610
406 JIEFAHZ01E 270,000 270,000
01 JIEtAH=201H 270,000 270,000
OZASR=Z 270,000,000 270,000
S BSXY 2 H8d YsHAE) 23,045 20,34 2,691
201 er23 | 14,688 11,931 2,757
01 At2teltl 10,744 8,931 1,813
OsJlzslIsdll sJ1d
2,848,000& 2,848
O3J1887] 8JIEM &
2,280,000 2,280
OMHEd S8l Xz
972,000 972
Ostisid S S| 4,644,000& 4,644
02 S3=gHl 3,944 3,000 944
OBJI=8J188J 228 uHM s
3,944,000 3,944
206 M=l 3,357 3,483 A126
01 M= H| 3,357 3,483 A126
O MHALE 234 HM S
3,357,000& 3,357
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SA SIAEHI
M ABN 29
C9l: HEAYUA 2Y(ALSESIH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 5,000 4,940 60
01 It =S F = 5,000 4,940 60
O3 HIEY S 5,000,000& 5,000
AUAE DS ZBH(HE) 7,949 8,321 N372
201 er2 3| 2,015 2,387 A372
02 S3=gHl 2,015 2,387 A372
OBl&fAstE Xl RAl2e
2,015,000& 2,015
206 M=H| 1,380 1,380
01 MHZH| 1,380 1,380
OALLESAE 22| 423
1,380,000& 1,380
401 AIZHIZ SO 4,554 4,554
01 Al&H| 4,554 4,554
OAEFANE RANES S
4,554,000& 4,5%4
TETE 2SAE & JIsLEAHE) 17,51 16,766 745
201 et 3| 7,167 7,108 59
01 At2t2l] 7,167 7,108 59
O7=l zg82cld 28 S
2,780,000& 2,780
O2z8 a48J 88 S
887,000& 887
OASHEUSHE Bl S
3,500,000& 3,500
206 M=l 10,344 9,658 686
01 MHZHI 10,344 9,658 686
Oxx+g 2g=3 10,344,000 10,344
Mgt s o E2&8s 25 HE) 13,000 14,000 A1,000
201 er23 | 8,000 8,000 0
01 At2teltl 8,000 8,000 0
OAgHNNE ST S
8,000,000 8,000
206 M=l 5,000 6,000 21,000
01 M=4l 5,000 6,000 A1,000
Oagetdu=s A2F S
5,000,000& 5,000
oSAUN XA (HE) 107,282 105,070 2,212
301 EtE NS 107,282 105,070 2,212
o4 gstsdstis 7,000 7,000 0
(OINIEFS =) 7,000,000& 7,000
05 | EA LA BHI 100,282 98,070 2,212
Ox¥sd = 90,482,000 90,482
Oul=t| 9,800,000 9,800
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SA SIAEHI
B AUA 29
9l YRAYA RY(AYSHEIH) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXte =Al2cltl 328,800,000 328,800
(@FS)==t=Fa ] 92,000,000 92,000
Oxgd |SX2elb(2E, &2l S)
102,369,000 102,369
OAgd 2= 154,404,000 154,404
206 M=l 4,700 4,800 A100
01 MHZH| 4,700 4,800 A100
OA Xty HIEIS S 4,700,000& 4,700
AEEA A & JIsEL(EH) 1,189,611 215,605 944,006
201 er2 3| 142,096 123,648 18,448
01 AtR2te|HI 55,696 37,248 18,448
OFAL &et=8H| S 26,450,000& 26,450
Og2 OlAHHlI S 20,000,000& 20,000
OFA 22X 3| 9,246,000 9,246
2 35234l 86,400 86,400 0
O&A gl S 86,400,000& 86,400
401 AIZHIX S0HH 721,854 81,017 640,837
01 AlZH| 721,84 81,017 640,837
OASHA BEE SAH
101,854,000 101,854
OALHEMS WA X SAt
620,000,000 620,000
405 AHatE = 295,661 10,940 284,721
01 ML ESFSHI 295,661 10,940 284,721
OU=ZA(ES) A28 &HII7Y
215,661,000& 215,661
OxgotdMEnd 24 =2 7
80,000,000 80,000
SN Y 2SAY & 2" s (Fd) 88,681 86,097 2,584
201 el 46,884 43,187 3,697
01 At22t2lt] 33,080 32,687 393
O3JIs8J188)| SIIE=23At
9,968,000& 9,968
O3JI28)] S8JIEAM S
2,040,000 2,040
OMHEY S3Hl SXg S
9,552,000 9,552
Ostieid S =l 11,520,000 11,520
2 s5=34l 13,804 10,500 3,304
O3J188JI188)| A2 WA S
13,804,000 13,804
206 M=l 32,997 34,960 1,963
01 M= HI 32,997 34,960 1,963
O MHILE 23UH S
32,997,000 32,997
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SA SIAEHI
B AUA 29
TPl CRIAA 22 (AYSHE|H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 8,800 7,950 850
01 It =S F = 8,800 7,950 850
Ozt HHI2d = 8,800,000& 8,800
AYAIE Jls Z3HEN) 30,872 31,009 A137
201 er2 3| 5,330 5,467 A7
02 S3=gHl 5,330 5,467 A137
OBl&fAstE Xl RAl2e
5,330,000& 5,330
206 M=H| 5,940 5,940
01 MHZH| 5,940 5,940
OALLESAE 22| 423
5,940,000 5,940
401 AIZHIZ SO 19,602 19,602
01 Al&H| 19,602 19,602
OAEFANE RANES S
19,602,000 19,602
TETE 2SAE & JlsTEH(EH) 79,514 80,487 N973
201 et 3| 21,909 24,546 N2,637
01 At2t2l] 21,909 24,546 A2,637
O2SRZUSHE BTl S
3,500,000& 3,500
O+l z8acled 28 S
13,900,000 13,900
OAz8 MA8)| 58 8
4,509,000 4,509
206 M=l 57,605 55,941 1,664
01 MHZHI 57,605 55,941 1,664
Oxx+g 2g=3 52,605,000 52,605
OxgEW =2 225 72¢
5,000,000& 5,000
Heog ns & 288 2sH(E) 11,000 13,000 2,000
201 er=23y| 8,000 8,000 0
01 AtR2t2lHl 8,000 8,000 0
OIS HIRFA S
8,000,000& 8,000
206 M=Hl 3,000 5,000 A2,000
01 MHZH| 3,000 5,000 /2,000
Oagotds ABE S
3,000,000& 3,000
olgagtty XI&(ga) 582,388 570,380 12,008
301 LEtE N = 582,388 570,380 12,008
04 Fsisstis 38,000 38,000 0
(OINERSEIE=) 38,000,000& 38,000
05 oISAUHAIE ZH 544,388 532,380 12,008
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TPl DAALA S (AYSH5H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 19,127 20,267 A1,140
01 MHZH| 19,127 20,267 21,140
O MILE A3%HM S
19,127,000& 19,127
405 AtatsE = 5,250 4,125 1,125
01 L ESFISHI 5,250 4,125 1,125
O=tHalg HHI2d & 5,250,000& 5,250
2ZAE Jls 2 S 13,472 13,913 VaVZy|
201 2= 4,485 5,313 A828
02 S52g4l 4,485 5,313 A828
Ol &4 ztd Xl FAl2el
4,485,000 4,485
206 M=l 2,090 2,000 0
01 MZH| 2,090 2,000 0
OAEFAIE 22| 423
2,090,000 2,090
401 Al HIZ S 0HbI 6,897 6,600 297
01 AlZ8| 6,897 6,600 297
OALLEFANE FANES S
6.,897,000& 6,897
TETE 2SAE & JIsLsH(S) 35,786 36,529 257
201 er23| 12,450 13,710 21,260
01 At2teltl 12,450 13,710 1,260
OQzg MA8)| 88 8
2,000,000& 2,000
o728l z82cld 28 S
6,950,000 6,950
OISR TUSHE Bl S
3,500,000& 3,500
206 MH=Hl 23,336 21,819 1,517
01 MZH| 23,336 21,819 1,517
Oxx+g 28=3 23,336,000& 23,336
Heog ns & 288 2334 11,000 13,000 A2,000
201 fer= 3| 8,000 8,000 0
01 At 2|l 8,000 8,000 0
OA2YotNIE HRFA S
8,000,000 8,000
206 MH=HI 3,000 5,000 22,000
01 MZH| 3,000 5,000 /2,000
OagotdE ABE S
3,000,000& 3,000
olgAgt] XI& (S 475,106 465,310 9,7%
301 EtE2 N = 475,106 465,310 9,7%
M Hetssstis 31,000 31,000 0
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Q&\H: a o

Cel: SPHARN SH(AUSHEIH) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Oz 9i%isl 12yl s 1,000,000 1,000
AETE US4 SUZ2I(20) 310,704 333,419 A2,715
201 Yereely| 307,004 39,519 A2 515
01 Al RF21H| 7,204 8,619 A1,415
OAgxiz BLAN S 7,204,002 7,204
2 2222 299,800 320,900 A21,100
Oxte sz 234,800,002 234,800
OFZSA) 65,000,000 65,000
206 M2t 3,700 3,900 £200
01 HEH 3,700 3,900 £200
OAgxiet HMHIE S 3,700,0002 3,700
AEEAL BANE L OISEA(R0) 405,962 411,984 £6,002
201 Yereely| 73,780 77,680 3,900
01 Al RF21H| 23,380 27,280 3,900
OZAr Zet+8Hl S 20,450,0002! 20,450
OHAb 22 24| 2,980,000 2,930
2 222 50,400 50,400 0
OFA olzHl S 50,400,0002 50,400
401 Al&HI L2 0H| 73,99 74,642 AB4T
01 Al&H 73,99 74,642 ~B4T
OAYEA BZNA ZAF
73,996, 0002 73,99
405 XjarE S 8,207 9,662 A1,455
01 MM L SEH S| 8,207 9,662 A1,455
O 82HE 28 22 S
8,207,002 8,207
406 JIEFXH=0I & 250,000 250,000
01 JIEFRHZ0I T 250,000 250,000
OBIATIISA Xz 250,000, 0002 250,000
SEY BENE L S AsH(E 59,980 59,117 863
201 Yereely| 3,500 29,574 2,926
01 Al RF21H| 22,640 22,074 566
OBIISSIIZTI| BILELNM
7,120,002 7,120
OMBE SR MR S
6,082,002 6,082
Osiiss S 32| 7,848,000 7,848
O2IIBEI| BIIBA S
1,640,002 1,640
2 222 9,860 7,500 2,360
OBIIBEIIENI| 22 DR
9,860,002 9,860
206 M2t 20,837 22,483 A1,646
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ARAN 2
L R0IAMAN 2Y(AYSHIN) (ool
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 20,837 22,483 A 1,646
O MILE 234HM S
20,837,000& 20,837
405 AtatsE = 6,643 7,060 N7
01 ML ESFSHI 6,643 7,060 NAT
Ostide HHI2H S 6,643,000 6,643
22AE Jls 23HEA) 15,435 15,957 AD22
201 2= 5,330 5,852 AD22
02 35244l 5,330 5,852 NB22
Ol &tAztd Xl FAl2el
5,330,000& 5,330
206 MH=Hl 2,350 2,350
01 MZH| 2,350 2,350
OAEFAIE 22| 423
2,350,000 2,350
401 Al HIZ R 0HbI 7,755 7,755
01 AlZ8| 7,75 7,755
OxgsrAlE RAES S
7,755,000& 7,755
2E7E 2SAE & JIsLEHFA) 39,074 39,160 N8B
201 er23 | 12,710 13,997 1,287
01 At2teltl 12,710 13,997 1,287
O+sl z28acldd 28 S
6,950,000& 6,950
OAzg MA8)| 58 8
2,260,000 2,260
OS2 TUSHE Bl S
3,500,000& 3,500
206 M=l 26,364 25,163 1,201
01 MZH| 26,364 25,163 1,201
O7x+g 2Z=E3 26,364,000& 26,364
Heog ns & 288 23H(R0d) 11,000 13,000 2,000
201 fet= 3| 8,000 8,000 0
01 AtR2te|H] 8,000 8,000 0
OIS HRFA S
8,000,000& 8,000
206 MH=H| 3,000 5,000 A2,000
01 MHZHI 3,000 5,000 /2,000
OagotdIE ABE S
3,000,000& 3,000
olgagttf XI&(2A) 689,670 675,450 14,220
301 LEetE N = 689,670 675,450 14,220
M Hstssstis 45,000 45,000 0
(OINIERSEIE=) 45,000,000 45,000
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2A:

2/ HIEHI

B AUA 29
9l NEAMN 2 (A2SHN) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAgxty JLAMN S 10,537,000 10,537
2 s5=34l 309,000 327,900 18,900
OXtg =Al2clbl 246,000,000 246,000
OEES4l] 63,000,000 63,000
206 M=l 3,500 3,900 A400
01 MHZHI 3,500 3,900 2400
OAgxtgy HMHIS S 3,500,000& 3,500
AYHA 2L & JISEL(MA) 133,493 162,536 N29,043
201 er23 | 84,272 88,008 A3,736
01 At2teltl 24,512 28,248 A3,736
OFAL &it+=ZH| S 22,250,000& 22,250
OFA 22X ZHHI 2,262,000& 2,262
02 S3=gHl 59,760 59,760 0
OFA HZEHl S 59,760,000 59,760
401 Al HIZL 201 39,350 63,530 A\24,180
01 Al&HI 39,350 63,530 A\24,180
OAEA BHNE BA
39,350,000& 39,350
405 AtatE = 9,871 10,998 A1, 127
01 ML ESFSHI 9,871 10,998 A1, 127
OBA & 23 78 S
9,871,000& 9,871
SN Y 2SAY 2 (8" 2sHAA) 55,258 54,786 472
201 =3 35,295 30,370 4,925
01 At22t2lt] 23,463 21,370 2,093
O3JIse8J188I| SIIE2EA
8,544,000 8,544
Ostisid S =l 8,136,000& 8,136
O3JI287] 8JIBA &
1,760,000 1,760
OMHEY S3Hl SXg S
5,023,000& 5,023
02 S5=2g4l 11,832 9,000 2,832
O3J1&88JI188)| A2 WA S
11,832,000& 11,832
206 MH=H| 17,353 17,290 63
01 M=4l 17,353 17,290 63
OstgE AottH S
17,353,000& 17,353
405 KHakE SH 2,610 7,126 A4,516
01 AL =S F = 2,610 7,126 AN4,516
O3 SHIEY S 2,610,000& 2,610
2EAE OIS FEH(MA) 21,162 21,183 21
201 Ler23| 6.370 6,391 221




SA SIAEHI
B AUA 29
9l NEAMN 2 (A2SHN) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 6,370 6,391 221
Ol &A2tdX FAl2cl
6,370,000& 6,370
206 MH=H| 3,440 3,440
01 M=4l 3,440 3,440
OaxgssAlE 2l 223
3,440,000& 3,440
401 AlEHIZL SO 11,352 11,352
01 Al&HI 11,352 11,352
OAYB4AE KNS S
11,352,000 11,352
ETS BSAY 2 IISLSHME) 41,624 4,272 352
201 et | 14,191 16,444 A1,253
01 AFR 22| 14,191 16,444 A1,253
072U 2YBY 29 S
8,340,000 8,340
O2Azs &AZI| 88 S
2,351,000& 2,351
OS2 ZUSHE Bl S
3,500,000& 3,500
206 MH=H| 27,433 25,828 1,605
01 M=4l 27,433 25,828 1,605
O7zx+g 2Z=E3 27,433,000 27,433
Mg ns o 2288 28HME) 11,000 13,000 /2,000
201 =3 8,000 8,000 0
01 At22t2l] 8,000 8,000 0
OAgtdN=s AT S
8,000,000& 8,000
206 M=l 3,000 5,000 22,000
01 MZH| 3,000 5,000 A2,000
OAgotMIE ABE S
3,000,000 3,000
OlZAYN XA (MA) 574,725 562,875 11,850
301 Eet2 NS 574,725 562,875 11,850
04 Zet=2stis 37,500 37,500 0
OxdEst= 37,500,000& 37,500
05 2SALUX2 Y] 537,225 525,375 11,850
Ox¥+E = 484,725,000 484,725
Ooul=Hl 52,500,000& 52,500
QIZH APEH X (MA) 18,000 16,000 2,000
301 EtE NS 18,000 16,000 2,000
11 #AIAHIXIZ = 4,000 4,000 0
ongad- s X234l 4,000,000& 4,000
14 0Bt 2a s 14,000 12,000 2,000
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2A:

2/ HIEHI

B AUA 29
CHRl: HUABA 2P (ARSEFH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 228,000 250,300 A22,300
OXte =Al2cltl 177,000,000 177,000
(OFSE=t=Flla] 51,000,000 51,000
206 M=l 3,000 3,300 A300
01 M=8l 3,000 3,300 A300
Oxgxted HIbIS S 3,000,000& 3,000
LA BZHE 2 IISEL(HY) 252,923 116,126 136,797
201 2= 53,853 60,216 6,363
01 At2t2ltl 22,893 29,256 26,363
OFAL &it=ZH| S 16,250,000 16,250
OFA 22X ZHHI 6,643,000& 6,643
02 S3=gHl 30,960 30,960 0
OFAL S28H| § 30,960,000 30,960
401 AIEHIZL SR 0HYI 39,300 48,750 N9,450
01 AlZ8| 39,300 48,750 29,450
OALEHAN SFME SAt
39,300,000 39,300
405 AHaHE = 19,770 7,160 12,610
01 It =S F = 19,770 7,160 12,610
OBAMN & 23 78 S
19,770,000& 19,770
406 JIEFAHZ01E 140,000 140,000
01 JIetAt=01d 140,000 140,000
OZAL SRtz 140,000,000 140,000
SHHAIY SSX & HESs 23H(HY) 31,390 32,260 AB70
201 223 16,983 14,207 2,776
01 At22t2ltl 13,039 11,207 1,832
O3JIe8J188)| SIIE2EA
2,848,000& 2,848
O3JI28)] S8JIBA S
1,600,000& 1,600
OMHEE S&Hl 8Xtg S
3,263,000 3,263
Ot d S sl 5,328,000& 5,328
2 35234l 3,944 3,000 944
O3J188JI188)| A2 WA S
3,944,000& 3,944
206 M=l 11,273 12,793 1,520
01 M=4l 11,273 12,793 1,520
Ost&gE Aottl S
11,273,000& 11,273
405 AHAHE S 3,134 5,260 A2,126
01 TR =S F=H 3,134 5,260 N2,126
O3 A SHIEY S 3,134,000& 3,134
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2/ HIEHI

B AUA 29
Chel: HeAA 2 (AUSEIH) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AHAIE Jls LSHEY) 11,465 11,705 A240
201 er23 | 6,305 6,545 A240
2 35234l 6,305 6,545 A240
Odl&astEX] =Al2te
6,305,000& 6,305
206 M=l 1,200 1,200
01 M=4l 1,200 1,200
OxgssAld 22l 223
1,200,000& 1,200
401 Al HIZL 201 3,960 3,960
01 Al&HI 3,960 3,960
OLBEFANE FANES S
3,960,000& 3,960
2AETE 2SAE & JIsLEHIEY) 25,816 24,625 1,191
201 er23| 10,383 10,289 %A
01 AtR2t2|HI 10,383 10,289 A
OAzg MA8)| 58 8
1,323,000& 1,323
O7sl z82cldd 28 S
5,560,000 5,560
OS2 ZUSHE B S
3,500,000 3,500
206 MH=H| 15,433 14,336 1,007
01 M=4l 15,433 14,336 1,097
O=zx+g 2Z=E3 15,433,000& 15,433
Mg ns o S28s 2o (ELY) 13,000 14,000 A1,000
201 2= 8,000 8,000 0
01 AtR2t2lt] 8,000 8,000 0
OAgtMNSE HRFN S
8,000,000& 8,000
206 MH=Hl 5,000 6,000 A1,000
01 MZH| 5,000 6,000 1,000
OAgotMIE ABE S
5,000,000& 5,000
oAU XNA(FY) 429,128 420,280 8,848
301 EtE NS 429,128 420,280 8,848
M Fetsstia 28,000 28,000 0
OXd&st= 28,000,000 28,000
05 2SALUA2 Y] 401,128 392,280 8,848
Ox¥+d = 361,928,000 361,928
Oul=H| 39,200,000& 39,200
QIZH AGEH X2 (FY) 13,000 12,000 1,000
301 EtE NS 13,000 12,000 1,000
11 #AIAHIXIE S 4,000 4,000 0
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SA SIAEHI
BH: AN 29
O EMAUN S (AUSESH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(@FS)t=Fa 1 66,000,000 66,000
206 M=l 3,600 4,100 A500
01 MZH| 3,600 4,100 A500
OA XY HEIS S 3,600,000& 3,600
A2FEA BZHE 2 IISEA(EY) 364,505 172,091 192,414
201 fer=3| 88,205 88,206 A1
01 At 22|l 29,165 29,166 A
OFAL dit=2H| S 21,650,000& 21,650
OFAL 22X HHI 7,515,000& 7,515
2 35234l 59,040 59,040 0
OFA HEHl S 59,040,000& 59,040
401 AlEHIZ 01 67,800 73,985 26,185
01 AlZH| 67,800 73,985 N6,185
OASHA BEE SAH
67,800,000 67,800
405 KHaHE SH 8,500 9,900 21,400
01 AL =S F=H 8,500 9,900 21,400
OFAL 28ild =238 72 S
8,500,000& 8,500
406 J|EHAH=0IH 200,000 200,000
01 JIetH=01H 200,000 200,000
OZA SRtz 200,000,000 200,000
SHNY S 2 HS™ YaH(EY) 61,769 57,802 3,967
201 fer= 3| 33,699 33,015 684
01 At 2|l 23,839 25,515 1,676
OBII=28J188I SBIIE2SAM
7,120,000 7,120
Ot d S sl 8,784,000& 8,784
O3JI28)] 8JIBA S
1,720,000 1,720
OMHEE S&Hl 8Xtg S
6,215,000 6.215
2 S5=2g4l 9,860 7,500 2,360
OBJIe8JI18d8I| AR uwHM S
9,860,000 9,860
206 M=l 21,470 21,787 A317
01 MZH| 21,470 21,787 AN317
O MALE A3%M S
21,470,000 21,470
405 AtatE = 6,600 3,000 3,600
01 Tt =S F=SH 6,600 3,000 3,600
Ostid e HHI2d S 6,600,000 6,600
AAIE Dls Za(Ed) 271,776 26,966 810
201 er23| 8,125 7,315 810
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S SIHEYID
Hu: AN 2

CiPl BHAUN Y(AUSHE) (cho] 29
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
02 2224l 8,125 7,315 810
OHI&ASEX RXI22
8,125,000& 8,125
206 =4l 4,570 4,570
01 =l 4,570 4,570
OaxgEaAl4 2el ABF
4,570,000& 4,570
401 Al HIZL 200 15,081 15,081
01 Al&H| 15,081 15,081
OAYBENE RS S
15,081,000 15,081
HE7Z g€sXE 2 JIsZdHEN) 55,043 53,084 1,959
201 B2 AY| 16,531 17,657 21,126
01 At=R2teld| 16,531 17,657 A1,126
OTSU 2YBEIN 2% S
9,730,000& 9,730
O2g& Mar&E)| &8 S
3,301,000& 3,301
O2lgREUSHE MR S
3,500,000& 3,500
206 =4l 38,512 35,427 3,085
01 =l 38,512 35,427 3,085
O7E+g 29=3 38,512,000& 38,512
Moy N & 88 AHES) 11,000 13,000 A2,000
201 B2 AY| 8,000 8,000 0
01 Al 2218 8,000 8,000 0
OAYOHDR PPN S
8,000,000& 8,000
206 =8l 3,000 5,000 A2,000
01 =l 3,000 5,000 A2,000
OAYOIHDS £05 S
3,000,000& 3,000
olgAYUU NA(EH) 58,747 487,825 40,922
301 LB F 58,747 487,825 40,922
M Zstgdetiia 34,500 32,500 2,000
(OINIEPS == 34,500,000 34,500
05 2|2 AR B 494,247 455,325 38,922
Ox8sY S 445,947,000 445,947
Oul=t| 48,300,000 48,300
DIZF AYCHH XIA(EH) 4,000 4,000
301 LB F 4,000 4,000
11 SHAIAHIXIAZ 4,000 4,000
o1 S K23l 4,000,000& 4,000
lAASN 2 (AUSESIH) 2,036,504 2,118,253 A81,749
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2A:

2/ HIEHI

B AUN 29
ol GIAAZIN 2 (AUSHE) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 66,580 69,660 23,080
01 At2teltl 21,220 24,300 /3,080
OFA LEt=2H| S 19,250,000 19,250
OFA 22X FH| 1,970,000& 1,970
02 S3=gHl 45,360 45,360 0
OFA HEHl S 45,360,000 45,360
401 AIEHIZ R 0HYI 65,089 65,300 A211
01 Al&H| 65,089 65,300 A1
OAZFHA SFME SAt
65,089,000 65,089
405 AHatE = 8,050 7,300 750
01 ML ESFSHI 8,050 7,300 750
OBAM & 23 78 S
8,050,000 8,050
SIHEIY SSAH & S 230 55,967 50,752 5,215
201 et 3| 29,427 26,092 3,335
01 At22t2l] 21,539 20,092 1,447
Ot s S&Hl Xz S
5,995,000& 5,99
O3JIs8JI188I| SIIE23At
5,696,000& 5,69%6
O3J188] 8JIE8M S
2,720,000& 2,720
Ol d S sl 7,128,000& 7,128
2 352484l 7,888 6,000 1,888
O3J1&88JI188)| A2 UH 8
7,888,000& 7,888
206 MH=H| 20,710 22,230 1,520
01 M=4l 20,710 22,230 1,520
O3t gE AattH S
20,710,000& 20,710
405 KHaHE SH 5,830 2,430 3,400
01 AL =S F=H 5,830 2,430 3,400
Ostid e HHl2d S 5,830,000 5,830
2EAIE D15 20l 20,462 21,1% AT34
201 er23| 4,810 5,544 AVK
2 5234l 4,810 5,544 AT
Ol &A2tdX| FAl2c
4,810,000 4,810
206 M=l 3,640 3,640
01 M=4l 3,640 3,640
OxgssAld 22l 223
3,640,000 3,640
401 Al HIZL 201 12,012 12,012 0




of
i’
oF
uJ

P
g

!
_C'>_
DOOIAAEEA

I P
DA

2A:
= ZH
o
&

(&) <
) 2122 g8 m mm g818|° S il il 8188
nd g1« o ol | ad ol | od N 6,%,3,3,
Ko < NN T - 818"
E
E=)
mV._ Q| O | ©
5 SIS NINERELELE 8|8 8|88 3 gl8l8 |¥|r|e|e
N B I o k=) ®»|n|S 2] S|o|S o |m|~|[r~
_ ]S Qe glg |2|s|= © |6 SlSlg o << |=|S|gls
LH3r BB B &1%%
ik =170
RIS
m 9622
R E BB R R EEEEHEEEEEREEE
oo o |o N P P e e I R A R ) clalale 0 9 = 3IF191F F2 36l s a8 S
. ®|m ™ %W%%W@%4444%%WW {8 S
g g
S
W W W o W W x
N W W o W G
g g & § g S g g 88 S I
or of 2 8 8 3 , , . g s , -3 g
0 - 55 3| & s 8 s E8 g cE B
B o 8 5 3 ~ 8 8
o) — —
= < Ulo <
I+ g ulo £ S
Ir mw S 4 =
£ o = g U0 3 5 U0 = Ny
= = a " a0 [0 KF Ho _ oI=|E N
ol OF U_A v o~ ¥ o | o m_ —~ 70 < o | & e 2 NA
= N S 50 | gl M ® gl |m = T R 3
oF R o4 W oy | oir T L o5 fl ur | ok Ujo K 3
3 < |®|g|g 2 2 = == = S = = o or o U0 |30 |30 R = =
. | E || g m|®RH|E = SR i S oo |FIBIE odin] M 0=
= o = I - K MK [ l=mls - — o=
I o il M D 0 I 5|35 % o | ol 5|35 o K¢ mz %0 M F o= RIND m) |5 0| = mw o =<
0 ] Mm_v ol 5y (o 0D 4 o Wl K3 oF 50 w10 =3 |pr T Bm_v =1 I | oY M.__ a4 0 o= ﬂ Do &w
oF el Bl = = oA = = ) I — e T A R
i %@_Mm m_v % IXW%OEA% mmm mom___momol_%mwmw___%mﬁw_%:ﬂ_? __.:amﬁ
S — S|l=|= — — =
X Ve 1 1 Rl I 1 E I ME i
= or o) o) [<d
i




od
i’
oF
uJ

P
g

n
[=3
D EHOrAEA

S HE Y]
LOABEA

2A:
X XH
o
&

el < 318 N QRN 38 QNS S 318 2188 e 5
S|S =S NN S| ~Sle s ) el o= <
n0 ag e <4< i S
Kio
E
E=)
218 8 818 218 33 818 cojj el foo) S 218 Wmmv_ S 5
oS 0 S| S5 © [0 S| S |x © i} | |«@ S N
o — | — [ap ) Nep) A N~ (ep] xR [ap ) Nep) ()] —
s |17 == 8|8 5| & 2|38 3 |5
uild]
RIS
N8 8 8 8 8 mmww%%%%%%mmmwmwmmmmwmwm&mmm&ww%
LIS S § S om NS ox|x NN © F (SIS SIN|T|N N & N SIale SN ¥ & S S(6
Te) © QO — w0 OO O OlN|lN N &l O~ |— —|N 0 WO DO O o O —
B8 2 i Al RlR €& 5|8 g &3 SR
m.ﬁ
<
b=
W W W o o o W o o o W o o W o o
8 8 S 8 S 8 S8 S 8 8 S8 S 8 8 S 8 8
S S S 98 S S S S S S S S S S S S S
g [9N)
o g 8 88 8§ g B g g g 5§ &8 8 28 8
o) (<o} o — Te) (ap) (V) Al O — ) ()] (ap) o
ol = - €K g 8 8 = ?
M ulo 3
Ik _ mo = 3
=z U o o 30
. o = o = . =4 e Uo o | T
— R n - 0 = = KF o | Jo ulo
= RIOE 2 7 . = o | & < W | = —
o) Moy o 5w RI||R o — P M5 5|C 52 l=
- o5 & o1 (1ol N P I B (LU P al = |ok 0 D
oF |_|_a Y & @ _ K o3 & |22 = &) LI S I - G Rlm|—|— < &R _ 5|2
Y| o|D _ = D A0 20| D (30 = |RO|RO D ol 10 | = w|dlzlD .. D g T =22 3ot D Ik
. |gofm RO W s D[RR C[®0f0r W0 MRS o wo |80 | W0 B g < W18 5y or & | ok
= || N 0h <0 S K |KE|KF X |<F |z # D |z S [ R0 Wis|s R Dlim W D
ﬁo.ua?%% KO K0 = Ki || 20(0- (& 20|OF|mo MOf Ki|gy|=< KOfo%fgyioF 20 Mo WO Ddjng|nd 20 |™ipfof < < o < |
K o= <4 oW Rr A w0 D S dfen|=< A|rrfur o0 THfon|®0 A {#H|ol|=x < A0 R RO[=Z|= d|=|ou|=< R R d R |
* —|l= OO O O x O 21OS3OM2©O11O_|_.M11@2@@%10_._81100201
X |]Q|° © Q1|° S QNC S| 2| R|° © S1° 2|R|° © S
$ 4 4




FA: §|34|§HIEP
HH: AuA 2
Ehel: EHEFit”/d 2 (AUSHEIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 51,680 51,737 N57
OLHEAL B8 SAH
51,680,000& 51,680
405 KHoHFSH| 8,368 13,098 N4, 730
01 ML ESFSHI 8,368 13,098 A4,730
OBA #ZWH 28 7Y S
8,368,000& 8,368
406 JIEFAIZ201E 270,000 270,000
01 JIEtAH=01H 270,000 270,000
OZAL & Xtz 270,000,000 270,000
S BSKY 2 82 (el 85,214 50,383 4,831
201 Ler23| 30,099 24,353 5,746
01 At2teltl 22,211 18,353 3,858
ONteE SEH 2Xe S
5,207,000& 5,207
OBII=2EJ18EI SIIE=2SAM
5,69%,000& 5,69%6
Ot d S sl 8,028,000& 8,028
O3JI=28)] S8JIEA S
3,280,000& 3,280
02 S3=gHl 7,888 6,000 1,888
O2JI5EJI8HI| A28 wH S
7,888,000 7,888
206 MH=H| 17,987 17,670 317
01 MHZH| 17,987 17,670 317
OMALE A5iotH S
17,987,000 17,987
405 KHoHF S| 7,128 8,360 N1,232
01 ML ESFSHI 7,128 8,360 A1,232
O3t e HHI2d S 7,128,000& 7,128
A2AE Jls 23HENR) 18,456 18,010
201 et 3| 6,760 6,314 446
02 s3=gHl 6,760 6.314 446
Ol &tAstE Xl FAl2el
6,760,000& 6.760
206 M=l 2,720 2,720
01 MHZH| 2,720 2,720
OAETAIE 22| 423
2,720,000& 2,720
401 Al HIZ S 0HbI 8,976 8,976
01 AlZ8| 8,976 8,976
OxgsrAE RAIES S
8,976,000& 8,976
oETS SBSAY X IISLSH(EL) 48,737 48,339 398
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SA SIAEHI
B AUA 29
Pl EHORAEIAl 22 (AYSHSIH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 16,033 17,282 A1,249
01 At2teltl 16,033 17,282 1,249
0720 2ABN 2% S
9,730,000& 9,730
OAzs MA8)| 58 8
2,803,000& 2,803
OS2 TUSHE Bl S
3,500,000& 3,500
206 M=l 32,704 31,057 1,647
01 MZH| 32,704 31,057 1,647
O7x+g 2Z=E3 32,704,000 32,704
Heoly ns 2 E28s 23 13,000 14,000 21,000
201 fet=23y| 8,000 8,000 0
01 Al 22| 8,000 8,000 0
QAN 2% S
8,000,000& 8,000
206 MH=HI 5,000 6,000 A1,000
01 MHZH| 5,000 6,000 1,000
Oagotds ABE S
5,000,000& 5,000
olgALty XI&(Efet) 367,824 360,240 7,584
301 eEtE N = 367,824 360,240 7,584
0 Fsisstiis 24,000 24,000 0
O &st=s 24,000,000 24,000
05 oISAUHAIE ZH 343,824 336,240 7,584
OaxB+=d S 310,224,000 310,224
Onl =l 33,600,000 33,600
QIZH APEH X2 (EHRH) 18,000 16,000 2,000
301 EtE N = 18,000 16,000 2,000
11 HAIMHIXIZ S 4,000 4,000 0
Oongadt s X234l 4,000,000& 4,000
14 0Bt 243 14,000 12,000 2,000
OAIQlaR Rl X2 S
14,000,000& 14,000
HEALNES & HHIIISTSHER) 2,000 2,000 0
201 2egh=3| 2,000 2,000
01 At2t2lt] 2,000 2,000
OWSAEA 23| 2,000,000& 2,000
MeS=ZUSHA += 6,679,355 7,189,320 /509,965
e 1,500,000
= 5,179,3%
SEMHHUHSHA 2 (ALSESIAH) 6,679,355 7,189,320 ~509,965
E 1,500,000




SA A
M 19S=T7EUSHAH 7=
CHel: SETHHCHS T 2Hel(Ags2s) (cre): xg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,179,3%

S HA 2 368,932 560,709 AN, 777
101 21A4H| 23,000 0 23,000
04 JIZtN2 2N S 2+ 23,000 0 23,000

OJIZtHZ2Z2 X 2 23,000,000& 23,000
201 =3 29,572 25,600 3,972
01 AtR2t2lt] 29,572 22,000 7,572
OS32clAIAE |X2el
4,970,000 4,970
OXFWE AHZAE S
8,000,000& 8,000
OExUsH g2 15,000,000& 15,000
OAgxtgy JLEAMN S 1,602,000& 1,602
203 HR=&H] 2,880 3,600 AT20
03 A=A R =NH] 2,880 3,600 ANT20
OS4USH AMe =7
2,880,000& 2,880
204 e A 294,000 166,560 127,440
02 S3g =3l 294,000 166,560 127,440
OY=g=H| 142,800,000 142,800
ORx=T=ESHI 151,200,000 151,200
206 MH=HI 1,200 1,200
01 MHZH| 1,200 1,200
OAgxtg HIHIS S 1,200,000 1,200
401 AIEHIZ SO 13,000 13,000
01 Al&H| 13,000 13,000
OHMEE XN sAHXN &X
13,000,000 13,000
405 AtatE = 5,280 13,749 A\8,469
01 TR =S FSHI 5,280 13,749 A8,469
OFBM 2ANH 25 7Y S
5,280,000& 5,280

SIYEs Us 9 &t 35,086 34,313 773
201 er23 | 26,312 25,539 773
01 At2teltl 26,312 25,539 773

ON&E A2EZ 0K 5,000,000& 5,000
OBJI=2EJ] S S AH 6,912,000& 6,912
OXNERZUH SHES s /S
ME_ 1= 14,400,000 14,400
206 M=l 8,774 8,774
01 MHZH| 8,774 8,774
Ogssd 4248 M=27¢
8,774,000& 8,774
nogsl =2¢ 2,275,337 1,394,298 881,039
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A 2IHEH
M 9SS AZUSHI 7=
ol SATILHISHI SHel(AsS®s) (12l M2
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
201 LBt 1,907,595 1,285,426 622,169
01 AtR2telbl 33,459 133,623 A100, 164
Oaxgg)| =2IB% S S2HIS
33,459,000 33,459
02 324l 1,874,136 1,151,803 722,333
Oagd)| A=l 128,466,000 128,466
OAge)| =AMl S
1,123,018,000& 1,123,018
OAgd)| &E528 Il
494,192,000 494,192
OXBAL AIHBAHIZ S
1,600,000 1,600
Oagdd| &D|, &i 88 25 28
126,860,000 126,860
202 04| 276,384 32,320 244,064
01 AL 6,300 6,300 0
OZZAH, EHIAL 8Bl 2& SU 048I
6,300,000 6,300
03 =220l 79,378 26,020 53,358
Ol A=) 2AHSZ, 28) 22AYR
0] 79,378,000 79,378
04 =XI=todb] 190,706 0 190,706
Odl A MAA ==& 0]
185,706,000& 185,706
OgSUA Hedst =2s 0l
5,000,000 5,000
206 =4I 4,389 8,000 23,611
01 XH=4l 4,389 8,000 A3,611
SSHIE 12A4E S
4,389,000 4,389
405 KHAHF SH 86,969 68,552 18,417
01 TR ESFSHI 86,969 68,552 18,417
Oagg)| U018 dHI7Y S
62,205,000 62,205
ONM9EU AEAL AFREI| #
6,364,000& 6,364
Og87x7=8Hl #
18,400,000 18,400
SERALEH =F 4,000,000 5,200,000 21,200,000
e~ 1,500,000
< 2,500,000
405 Attt = 4,000,000 5,200,000 /1,200,000
EN 1,500,000
= 2,500,000
01 M ESFH S| 4,000,000 5,200,000 21,200,000
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2A:

2/ HIEHI

M 9SS AZUSHI 7=
Chel: SATILTISHI 2al(Agswsy) (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUSE = A%a)| a5 2
4,000,000,000& 4,000,000
ES 1,500,000
[ 2,500,000
S0Io] THEE & QHMALL) OHK SEF Hat 1,231,020 682,551 548,469
E 349,000
s 882,020
WM s ga & oHNolAl DF(AMSERA) 1,231,020 682,551 548,469
ES 349,000
< 882,020
SHEME 2 29 Wast 837,490 541,251 296,239
101 @12A4H| 250,000 186,411 63,589
04 JIZtN22 XS 2+ 250,000 186,411 63,589
OtE 2 JI2HH 24
205,000,002 205,000
OSABATHOI2HR) 24
45,000,000 45,000
201 er23| 222,570 224,000 A1,430
01 At2teltl 11,010 14,000 A2,990
OSS2clAIAE |X2el
3,010,000& 3,010
OAFWE Aeh2AE S
8,000,000& 8,000
2 S5=2g4l 211,560 210,000 1,560
OMg2 ANdE |2
210,000,000 210,000
O™¥EI =Al2el 1,560,000& 1,560
203 2=l 2,880 3,600 AT20
03 A= PR FZ| 2,880 3,600 AT20
OB AlMAS =X
2,880,000 2,880
204 Xt AH 57,120 67,320 /10,200
02 SLR3H 57,120 67,320 210,200
OYs&=H| 57,120,000 57,120
206 MH=Hl 4,920 4,920
01 MZH| 4,920 4,920
(OES= TS 3,000,000& 3,000
O=e o 85| HAIZL
1,920,000& 1,920
406 JIEFAIZ201E 300,000 300,000
01 JIEtAH=01H 300,000 300,000
OZAL & Xtz 300,000,000 300,000
HEAIE 2| 2¢ 393,530 141,300 252,230
ES 349,000
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2A:

X XH -
o=

2/ HIEHI
C0IOf THEH & QPN AL CHA HEf
= 0

ChOl: THLHHRIS! BrA 9 OHEOIAl DR (A= EEI) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 44,530
201 er23y| 22,700 18,200 4,500
01 AtR2t2|HI 22,700 2,000 20,700
OO0el0IME 2 CHEME =S ME
2,000,000& 2,000
OSEMgu=s 28 H3 U0 S
20,700,000 20,700
206 M=l 17,400 27,400 10,000
01 MZH| 17,400 27,400 10,000
O22a =29 6,000,000 6,000
ONMEusE 228 F
11,400,000& 11,400
401 AlEHIZL SO 299,750 0 299,750
EN 299,000
=S 750
01 Al&H| 299,750 0 299,750
OMEAE & 28I= id
299,750,000 299,750
ES 299,000
== 750
405 AtatE=H 53,680 95,700 A42,020
e 50,000
= 3,680
01 Tt =S F=H 53,680 95,700 N42,020
OMEg2t A= I & 728
53,680,000 53,680
ES 50,000
== 3,680
(Gla1ha] 191,502 650,393 /458,891
Hibibl 2E(AZE83) 191,502 650,393 A\458,891
oiHigl 2= 191,502 650,393 A458,891
801 GBI 191,502 650,393 A458,891
01 Zetolblbl 191,502 450,393 A258,891
Ooullblbl 191,502,000 191,502
Y2 AAH (AU2L) 367,086,209 338,801,658 18,284,551
Il 53,527
ES 45,600,000
< 311,432,682
ClARHH(ALSES) 345,863,119 328,311,000 17,562,119
) 53,527
E 45,600,000
=S 300,209,592
I 2AHH(AUSRY) 270,132,812 265,520,989 4,611,823
ES 45,600,000
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SA SIAEHI
I BHSEAY|(LYRS)
Gl QAR AH(ALSESIH) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 224,532,812
101 @1A4H| 270,132,812 265,520,989 4,611,823
e 45,600,000
= 224,532,812
01 2= 270,132,812 265,520,989 4,611,823
OJlZ=s 132,157,381,000& 132,157,381
EN 45,600,000
= 86,557,381
od2=+¢ 12,440,000,000& 12,440,000
Oli*s=a+¢ 1,737,309,000& 1,737,309
Od2+ditits 3,041,760,000& 3,041,760
Od2=g Fiprt=s 216,000,000 216,000
OJE+g 2,754,000,000& 2,754,000
O=F0t72=+g 2,031,000,000& 2,031,000
Ot st==¢ 3,248,640,000& 3,248,640
ORg=22=+¢ 2,929,200,000& 2,929,200
OJled=E=g 3,600,000 3,600
OJlsgdEE Jt= 2,880,000& 2,880
OESIHt= 805,200,000& 805,200
OosiF2 931,800,000 931,800
Oogs=+g 53,440,000 53,440
ORHIRATE 30,000,000& 30,000
Oougesg 3,600,000& 3,600
OguE =< 500,000,000& 500,000
OAIZIRIZ RS (LB AY)
6,443,775,000& 6,443,775
OAIAZ 24 (H LU LAY
27,535,709,000& 27,535,709
O0RIZ2+Z (LU LAY
12,237,990,000& 12,237,990
OFg222 (AU
11,583,386,000& 11,583,386
OzelgRg 195,458,000 185,458
OdHZAHI 7,166,880,000& 7,166,880
OE &=l 14,927,949,000& 14,927,949
O It2 4| 3,566, 121,000 3,566,121
(OFS= LB 9,236,280,000& 9,236,280
Oodnaois 14,393,454,000& 14,393,454
QIHARHH|(ALZSRH Q) 3,317,434 3,820,305 /502,871
) 53,527
& 3,263,907
101 212A4H| 3,192,136 3,695,011 A502,875
Il 53,527
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3,078

2,700

378

217,440

213,700

A3,200

210,500

A3,200
A3,200

AB40

A540

3,7%

1,655
1,600

1,600
1,600

540
540

19,013

8,873

A9,600

MEE
Ofl &k2h

59,868
18,000

38,088

3,780

134,140

67,700
27,200

40,500

27,200
27,200

3,240
3,240

36,000
36,000

56,200
29,500

24,000

5,500

24,000
24,000

2,700
2,700

133,605
101,565

28,800

Ofl &F2H

62,946
20,700
20,700

38,466

11,466

27,000

3,780
3,780
116,700
54,000
24,000
24,000
30,000
30,000
24,000
24,000

24,000

2,700
2,700
2,700

36,000
36,000

10,800
25,200
59,99
31,155
25,600
25,600

5,555
5,555
25,600
25,600

25,600

3,240
3,240
3,240

114,592
92,692

19,200

- ESS

- SRA(E) - HIRAY

S LRE-L

Kl
KF
aoF
ol

20,700,000&

11,466,000

27,000,000

O

3,780,000

| A 2D

3

01 AFR2t2ltl

O

KJ
K
ok
ol

| A &8I

3

24,000,000&

30
0K
[H0
M0

30
OH
[0
H0

30,000,000&

202 044l

01 ZLHA LI

O

(oddl)

Kl

ok
ol

| A&l

3

24,000,000

Kl
K
oF
ol

0B

| A&

Oz

2,700,000

R0
X
10!

oF

Rr

RO
%0
ok
)
&
R

10,800,000
25,200,000

01 AtR2telbl

25,600,000&

30
U
[0
M0

30
0B
[0
M0

5,555,000

202 044l

01 =LA LI

25,600,000

Kl
KF
aoF
ol

0H

R0

3,240,000

01 At22t2ltl

J1=2ZHI(
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SA SIAEHI
M #HFYRAIH(AYER)
el D12 BHI(ASSE3H) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot gord JRFA 19,200,000& 19,200
2 s5=34l 73,492 72,765 rer
Os&=3gl 73,492,000& 73,492
202 04| 19,200 28,800 9,600
01 2LHAH| 19,200 28,800 29,600
Oovgerd FRF=X(0H])
19,200,000 19,200
203 HR=&H] 2,700 3,240 AB40
M EA2ER=AH 2,700 3,240 2540
Ol & 1t 2,700,000 2,700
Jl=2dul(19tS) 89,540 62,500 27,040
201 er2 3| 55,900 37,400 18,500
01 AtR2t2|HI 30,400 22,400 8,000
Oo1oths g==d 30,400,000 30,400
02 S3=gHl 25,500 15,000 10,500
Oss=2gHl 25,500,000& 25,500
202 04| 30,400 22,400 8,000
01 =LHO LI 30,400 22,400 8,000
o198 LR=a(04H1)
30,400,000& 30,400
203 HR=AH] 3,240 2,700 540
MU A2 LRFAI 3,240 2,700 540
o1 s 3,240,000& 3,240
JlE2ZHI (11954 Ed) 318,784 292,565 26,219
201 fet=3| 158,900 145,967 12,933
01 At 22|l 152,000 139,200 12,800
O1195gda g2=d 152,000,000& 162,000
2 35244l 6,900 6.767 133
o352l 6,900,000 6,900
202 04l 152,000 139,200 12,800
01 =LHAHI 152,000 139,200 12,800
O1ozgata YRFa(0l)
152,000,000 152,000
203 =4l 7,884 7,398 486
04 PAE2EERFAH 7,884 7,398 486
O119&eaaa 7,884,000 7,884
Jl=Zul(EsEAgst) 945,826 578,004 367,822
201 2egh=3| 853,706 511,684 342,022
01 At22t2lt] 118,080 100,080 18,000
OAgdly gy 60,000,000 60,000
Og=x+¢ 58,080,000& 58,080
02 S3=gHl 735,626 411,604 324,022
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18,000
18,000

6,600

720

120

5,760

1,200
1,200

25,174
24,724

A120

24,844

450
720

N270

35,972

MEE
Ofl &k2h

42,000

42,000

15,920
7,200

1,520

7,200

8,400

8,400

538,231

314,289
144,280

170,009

142,570
142,570

62,172
14,400

8,190

39,582

19,200
19,200

715,827

Ofl &F2H

735,626

60,000
60,000

60,000
22,520

7,920
7,920

1,640
1,640
12,960
12,960
9,600
9,600
4,800
4,800
563,405

339,013

144,160

86,080
58,080
194,853
194,853
142,570
142,570

142,570
62,622

15,120
7,920
7,200

8,190
8,190

39,312

11,610
27,702

19,200
19,200
4,800
7,200

7,200

751,79

- ESS

- SRA(E) - HIRAY

S - B

735,626,000

202 OH|

01 2L AL

60,000,000&

KJ
KF
ok
ol

7,920,000

1,640,000

0B

12,960,000

R0
X
10!

oF

Rr

RO
%0
ok
)
&
RT

4,800,000&
4,800,000

01 AtR2telbl

86,080,000&

58,080,000&

30
0K
[H0
[0

194,853,000&

202 044l

01 =LA LI

142,570,000

Kl
KF
oF
oD

7,920,000
7,200,000&

8,190,000

T X

I I

11,610,000
27,702,000&
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KJ
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R0
X
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Rr

RO
%0
ok
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4,800,000&
7,200,000
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31,407

2,120

29,287

3,710
3,710

855
720

189

Ab4

148
1,352

AT60

2,112

21,060
1,060

A144

720

Ab4

810

MEE
Ofl &k2h

419,675
171,160

248,515

187,090
187,090

85,062
19,200

10,458

55,404

24,000
24,000

602,304
362,031

150,360

211,671

152,640
152,640

67,233
15,600

8,703

42,930

Ofl &F2H

451,082
173,280
115,200

58,080

277,802

277,802

190,800
190,800

190,800

85,917

19,920

7,920
12,000
10,647
10,647
55,350

11,610
43,740
24,000
24,000

4,800
7,200
12,000
602,452

363,383

149,600
91,520
58,080

213,783

213,783

151,580

151,580

151,580
67,089

16,320
7,920
8,400
8,649
8,649

42,120

- ESS

- SRA(E) - HIRAY

S - B

01 AtR2telbl

115,200,000&

58,080,000&

30
0K
[H0
[0

277,802,000

202 044l

01 =LA LI

190,800,000&

Kl
K
oF
oD

7,920,000
12,000,000&

10,647,000

x X

I I

11,610,000

43,740,000&

R0
X
10!

oF

Rr

RO
%0
ok
)
&
RT

4,800,000&
7,200,000
12,000,000&

01 AFR2t2ltl

91,520,000&
58,080,000&

30
OH
Mo
[0

213,783,000

202 04|

01 S0

151,580,000&

K]
Kt
ok
ol

7,920,000&
8,400,000

8,649,000

0B
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9,442
9,1%4
2120

9,274

288
720

N432

33,143

33,233
A120

33,353

MEE
Ofl &k2h

20,400

20,400

543,891

326,545
141,080

185,465

137,270
137,270

60,876
14,400

7,920

38,556

19,200
19,200

646,660

372,047
165,080

206,967

177,020
177,020

Ofl &F2H

10,530
31,590
20,400
20,400

4,800
7,200
8,400

553,333
335,699

140,960
82,880
58,080

194,739

194,739

137,270

137,270

137,270

61,164

15,120
7,920
7,200

7,920
7,920

38,124

10,530
27,54

19,200
19,200
4,800
7,200
7,200
679,803
405,280
164,960
106,880
58,080

240,320

240,320

177,020
177,020

- ESS

- SRA(E) - HIRAY

S - B

10,530,000&
31,590,000

R0
X
10

ok

KM

RO
%0
ok
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&
R

4,800,000
7,200,000
8,400,000

01 AFR2t2ltl

82,880,000&

58,080,000&

30
i
Mo
[0

194,739,000

202 04|

01 S0

137,270,000

K]
Kt
ok
oD

7,920,000&
7,200,000

7,920,000

T X

I+ M

10,530,000
27,5%,000&

(RETS)MIE

KJ

R0
0

ok

Rr

70
0

ok
ol

Rl
Rr

4,800,000&
7,200,000
7,200,000

01 AFS2t2ltl

106,880,000&

58,080,000

30
0H
[0
M0

240,320,000

202 OH|

01 =LHOHI
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